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I throw a ball vertically up

into the air

V C tf  The velocity of ball Ct the . upward at time t Ged
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Suppose Fft ) = The amount of some quantity attiuet

F Ctl could be total grams of a yeast population
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The price of milk

Suppose Htt -

- rate of change of that quantity
at time t
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the net change in the quantity from f- a

to t -
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is the resulting net
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F (f) = The temperature OH at be Aaaa
f- hours after midnight on Jan 1,2010 .
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f- Ctl = The rate the temperature is changing

( " Far ) at be Aaaa t hour , after
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f- (b) = - 0.6 means



F Ctl = The temperature loft at be Aaaa
f- hours after midnight on Jan 1,2010 .
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f- At = The rate the temperature is changing

( ° Far ) at be Aaaa t hour , after

midnight
,
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,
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f- (b) = - 0.6 means ⑧ At 1:00PM Tan 1,2010
,

the temperature at pe Anza was decreasing
at a ( instaneous) rate of 0.6°F far
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what does

thismeFrom 6:00 A ! to 12:00PM oh Jan 1,2010,
the temperature increased a neat amount of 3.4°F.

If at 6:00AM the temperature was 60°F
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what was the temperature at 12:00 PM 's
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The fundamental Theorem of calculus

part I

( Most books call this part I
,

bout oar book

calls it partI ,
so I will too ) .
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